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l6cm=.1L 1M 6. cm
2 1m = 20 cMm
IM3cm=13 cm

1I8cm=.1.01M ...CM
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BoBa—-6
Kara — ?, Ha 4 0oJ1b111€

6—4=2
6+4=10
6+4+6=16



BoBa—-6 o
Kara — 7, Ha 4 0oJ1b111€ .

Pemienue



BoBa — 6
Kara — 4

6—4=2
6+4=10
6+4+6=16

1Ha"6
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Cymma




2.4,6, 3., 1.
1,3,5,.7, .9
8,6,4,.2, 0.



10 + 4
‘ S +4
7+ 4
5+ 10
4+9
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9+ 4.=13
11-.2.=9
6+.3 =11
13-10=3
4+ .7.=11
12-4.=8
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15cm=.1 1M 5. cm
20cM = 2. 1M ). M
l aMm9 cMmM=19cm
1l oM 3 cM =13 cM

11 cMm = 1- M .]. CM



boap. — 8 9
MaJb. - 7, Ha 5 MeHbIIIE :
8 —§=3 MajJeHLKHE

8+3 =11 Bcero




Y Kouin — 4
Y Touu —12

12-4=8

1Ha?M




beijo — 11
B3sgau — 7
OcTtaJjgoch - ?

11 — 7 = 4 ocTajgoch




